060 000000000000 PDFOODODODOOOO
OJ0ooooooOn
https://www.100test.com/kao_ti2020/96/2021 2022 2006 _E5 B9 B
4 E5 BA A6 c64 96409.htmI 0 O20 00000
Jododoboooooodobooouooouoooooa
Oooo [] [] [] [] N ooooodad
DOo0o0ododoU A.Sun Xiaoyan ran 800 metres.B. It
was difficult to run the race.C. Sun Xiaoyan did. ()1 A. Oh dear!
Whats wrong? B. Thats all right. C. It doesnt matter.( )1 A. Yes, |
want. B. Yes, please. C. No, | dont like.()J A. Yes. Welcome back
to school again.B. Certainly, we are. C. No, | dont mind.( ) A.
Yes, but my pencil is lost.B. | want to write a letter.C. Sorry, | left my
penathomelllD 00000000 0OOOOOOOOOC)O
A. She doesnt want to play table tennis.B. She wants to play table
tennis.C. She wants to see the doctor.( ) A. Joy is answering
someones question.B. Joy is working in her study.C. Joy is speaking
to someone else on the phone.()J A. She doesnt like the woollen
one.B. She likes both of them.C. She likes the cotton one.( ) A. 24.
B. 28. C. 29.()J A. He helped the old woman with it.B. He bought
an ice cream with it.C. He gave an ice cream to the woman.IV [
J000000000000000000)0 Wheredid Mr.
Brown get out of the taxi?A. At the bus stop. B. Near his bank. C. At
Victoria Station. D. By his office. () What hit the taxi at the
corner?A. Awindow. B. A wheel. C. A car. D. Astone. ()J What
did the policeman write in his little book?A. The number of the car.
B. The number of the taxi. C. The number of a bus. D. The number




of the train. ()J Why were the policeman and the taxi driver
angry?A. Because Mr. Brown was late. B. Because Mr. Brown got out
of the taxi. C. Because the policeman couldnt stop the car. D.
Because Mr. Brown fell and hit his head on the door. ()0 How did
Mr. Brown go to his bank after that?A. He went to his bank by bus.
B. He went to his bank by car. C. He went to his bank by taxi. D. He
went to his bank on foot. 100Test D D O OO0 O OO OO OOO
D0oooddond www.100test.com



